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34, IfA =|: :13 ;], show that A2 =5A + 71 =0. Use this to find A*. [NCERT]
35. IfA = [2 ‘g] , find ksuch that A2 = kA - 2. INCERT, CBsg
36. 1fA z{ . 3} , findksuch that A% -84 + kI =O. (CBSE 2005
37. IfA =|:; ﬂ and f(x)= x? - 2x - 3, show that f (A) =O. [CBSE 2005)
38. If A = [f ;}andl:[i(l) ?], then find k,psothatAz =AA+pl
39. Find the value of x for which the matrix product
2 07 -2 HMx 7x
0 10 0 1 0 |equal to an identity matrix.
1 =2 1 x —4x -2x
40. Solve the matrix equations: :
1 0l [1 2 0] [0 _
@) [x 1] [—~2 _ 3:| [5} =0 (i) 1 21]{2 0 1||2|=0 [NCERT
1 0 2f|x
02ffx 1 2
. X
(iii) [x -5 -1] 2 1| |4|=0 [NCERTI] (iv) [2x 3] ( ][ ]=O
0 3|1 _—3 0](8
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1 2
41. fA=| 3 -4
0 -1

} ,compute A% — 44 + 315.
) 0 2
42. If f (x) = x* - 2x, find f (A), where A =| 4 0.
0 3

1
5
2
) 5 0 1 2
43. If f(x) =x° + 4x —x, find f (A), where A =| 2 =3 @ |,

1 02
4. IfA=) 0 2 1 |,thensh i i
{2 i J en show that A is a root of the polynomial f (x) = x3 - 6x2 +7x+2 |
) 1]
12 oF
15 fA= 2 1 2 | thenprove that A2 44 5
’ - =9l = . 8]
4 o) [CBSE200

320
46. IfA =1 4 ¢ » show that A2 —74 4 107 =0
005 T
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